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Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

Time Allowed : 75 Minutes]

[Maximum Marks : 100
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1. ‘Love of Wisdom’ is related to :
(A) Epistemology
(B) Axiology
(C) Philosophy
(D) Metaphysics

2. The emphasis of Metaphysics is

on :

(A) Relationship between values

and society

(B) Relationship between man and

society

(C) Relationship between man and

God

(D) Relationship between knowledge

and morality
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According to pragmatism ................

is the principle of education.
(A) book learning and discussion

(B) importance of individual and

society

(C) education based on psychology

and science
(D) behaviour and experiment

It is possible to make education a
forceful tool for cultivation of

desirable values ................

(A) with a well designed

curriculum

(B) with the wuse of ICT in

teaching

(C) with predetermined aims and

objectives

(D) with the changing pattern of

society
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The project method of teaching based

on the real life situations relates

(A) Idealistic

(B) Pragmatic

(C) Naturalistic

(D) Realistic

According to Rousseau ....................

does not represent negative

education.

(A) formal discipline

(B) sense training

(C) habit formation

(D) direct moral instruction
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Transcendental self is related

(A) Pragmatism
(B) Naturalism
(C) Realism
(D) Idealism

According to Gandhiji true

education is ...................
(A) Manifestation of perfection

(B) Which draws out and stimulates

intellectual, physical faculties

(C) All round development of a
child

(D) Emancipation of soul

The types of education according to

Veda are ..................
(A) Paravidya and Aparavidya

(B) Paravidya and Materialistic
knowledge

(C) Aparavidya and Scientific
knowledge

(D) Prachyavidya and Materialistic
knowledge
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10.

(D

(2)

3)

(4)

11.

Identify correct matching pairs of

statements from Group ‘A’ and
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10. e '3’ 9 e ‘9’ adfia fayumr=n gara

Group ‘B’

Group ‘A’ Group ‘B’
School is the only place (a) Realism
for regular and effective
education
School is a spontaneous (b) Pragmatism
field for free activities
for children
School is laboratory for (¢) Idealism
conducting
School prepares the (d) Naturalism

children for happy life

(A) (D-(a), (2)-(b), (3)-(d), (4)-(c)
(B) (D-(0), (2)-(a), (3)-(c), (4)-(d)
(©) (D-(o), (2)-(d), (3)-(b), (4)-(a)
(D) (1)-(d), (2)-(c), (3)-(a), (4)-(b)

According to

Socrates

knowledge consists of

true

(A) Ideas of universal validity

(B) Ideas of universal value

(C) Ideas of virtual world

(D) Ideas of principles

e sfessn
R O R
(v Frfr 3 gl gt (@) e
IMeal &= S 318
(2) A=A TRl STHHIHTCH (b) e
A T IR & T
wifest
(3) WANT HIUAT FARTEIG! () ETEE
RS QMTedl
(4) WMo faeneaf eTa @ TetemR
St TER

(A) (D~(a), (2)-(b), (3)-(d), (4)-(c)
(B) (1)-(d), (2)-(a), (3)-(c), (4)-(d)
(©) (D)-(e), (2)-(d), (3)-(b), (4)-(a)
(D) (D-(d), (2)-(c), (3)-(a), (4)-(b)
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12.

13.

14.

Tagore’s philosophy also advocates

idealist view through ...............
(A) Education for self-reliance
(B) Utilitarian aim of education
(C) Spiritual attainment

(D) Development of scientific

temper
Cultural lag means .............
(A) a particular culture declines

(B) a revolutionary change in

culture

(C) non-materialistic part of culture
remains behind in comparison

to materialistic part of culture
(D) revival of old culture

In the context of transmission of
culture, the main objective of

education is .................

(A) Introducing arts

(B) Inculcation of values

(C) Introducing ancient literature

(D) Organizing cultural activities

12.

13.

14.
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15.

16.

Bilingual school means .............

(A) a school where at least two

languages are taught

(B) a school where science and
mathematics are taught in

English

(®))

a school where instruction is

given through two languages

(D) a school where English is
taught at both higher and lower

level

The expenditure on education

(A) Productive expenditure

(B) Investment for future

(C) Not proportional to financial

status

(D) is made available through

loan

16.
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17.

18.

In the near future the definition

of an illerate person would
be .............
(A) one who does not know

English

(B) one who does not know

computer

(C) one who is not a graduate

(D) one who has not learnt how to

learn

Which of the following statements
regarding distance education is not

true ?

(A) Distance education is flexible

regarding time limit of

completing the course

(B) Distance education caters to the
needs and convenience of

students

(C) Distance education lays

emphasis on self-learning

(D) Distance education does not
provide degrees, it provides only

diplomas

17.

18.
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19.

20.

In order to reduce the stress and
strain among the children, the

parents ..................

(A) should help them to develop

some art or hobby

(B) should not make much fuss

about their stress and strain

(C) provide them enough pocket

money

(D) ask them to solve their own

problems

Which statement describes correctly

the nature of educational

sociology ?

(A) It interprets the social

manners

(B) It throws light upon functions

of school

(C) It is mainly concerned with the
influences of social environment

on the growing child

(D) It explain the rules regarding

educational institutions
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21.

22.

Which of the following is not the
objective of educational sociology ?

(A) To decide the educational
policy

(B) To study the impact of social
influence on individual growth

and development

(C) To correlate properly the
impact of mass media on

education

(D) To analyse the interactions

between school and society

In our country the adult education
programme went through the
following steps :

(A) Continuing education — Adult
literacy programme — Literacy
campaign — Sarva Shiksha
Abhiyan

(B) Adult literacy programme —
Sarva Shiksha Abhiyan —
Continuing education — Post

literacy programme

National Adult Education
Programme — Total Literacy
Campaign — Post Literacy
Programme — Continuing
Education

Sarva Shiksha Abhiyan —
Continuing Education —
National Adult Education
Programme — Post Literacy
Campaign

(©)

(D)

21.

22.
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23.

24.

25.

From social point of view
is the most important function of

education.

(A) Establishing more schools

(B) Conducting various types of

competitive examinations

(C) Transferring heritage of culture

(D) Promoting diversified

vocational courses

In the social context, through the
application of reconstructionism
....................... can be achieved.
(A) Social control

(B) Social change

(C) Social stratification

(D) Social mobility

Skinner lays emphasis on

while defining educational
psychology.

(A) Development of an individual
(B) Teaching-learning process

(C) Application of psychological

principles in education

(D) Human behaviour

23.
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26.

27.

Achievement of a student in
language and maths is substantially
lower than expected from his

measured intelligence. This is due

(A) Lack of motivation

(B) Mental retardation

(C) Autism

(D) Learning disabilities

Mr. Bhosale is a teacher who has
the behavioural view of learning. He

probably uses the

in teaching.

(A) Teacher-centred

(B) Student-centred

(C) Peer instruction

(D) Activity based

26.

27.
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28. According to Guthrie’s theory, | 28. 7ot =n SUTHIER 1w w=UN
learning means creation of rapport | ... Tey Tey et w0
between ..................

(A) 3EIH—BIeTaTd
(A) Stimulus—movement

B) IEsh—yfaa
(B) Stimulus—response (B) =% s
(C) Stimulus—reward (C) ST
(D) Stimulus—performance (D) SEIh—HEHH

29. Karan is studying in Standard III. | 29. =¥ @ fa@==1 sTwH=y fhdl, b/d,
He cannot discriminate between 6/9, M/W Il Bich 37e3d ITehd Tl
b/d, 6/9, M/W. He may be a ............... WA 3.

(A) Slow learner (A) TfaEg
(B) Mentally retarded (B) wfaHg
(C) Learning disabled (C) ATTA AFhrIe™
(D) Autistic (D) @HH

30. Projective techniques are used to | gg wgamor g & it Hefa
assess behaviour which is concerned : 5 9
with :

: . (A) 3TEgA
(A) Unconscious mind
(B) Environment (B) dfRfeerd
(C) Hormones (C) 3fa&ra
(D) Heredity D) FFEw
13 [P.T.O.



31.

32.

The following is not a principle of

growth and development in
children :
(A) Principle of individual

differences
(B) Principle of continuity
(C) Principle of practice
(D) Principle of integration

Sangita tries to solve a problem but
is not able to do so. She again thinks
about its solution but in vain. After
some time, all of a sudden, she gets

the answer. This learning is known

- 1< JRR

(A) Learning by trial and error

(B) Learning by classical
conditioning

(C) Learning by insight

(D) Learning by operant
conditioning

31.

32.
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33.

34.

35.

Ashwin tries to get a place for

himself in the school cricket team
but he is rejected by the coach. He
then tells all his classmates that he
was actually not interested in cricket
as it would be a waste of time. This
is an example of :

(A) Projection

(B) Rationalisation
(C) Compensation
(D) Identification

A student is having highly
developed viscera but weak somatic
structure. He is easy going, sociable
and affectionate. According to
Sheldon’s classification  of
personality, such a student’s
personality type is

(A) Mesomorphic
(B) Endomorphic
(C) Ecomorphic

(D) Leptomorphic

The teaching learning environment
should be so structured that it
provides maximum help to the
learners in relation to their own life-

33.

34.

35.

FEB — 70213/II
fyeq IMR=A fohshe wEd T
Hesfauama TIe Shidl 991 e AiRieteh
AT AThRA G al = 99 a7
I 9Tl 1 'R W e fohehe
[ T el SRl fohehe o dosal I

B T o 3T 3TME.
(A) 9&qu
(B) THgH
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(A) HEHRS
(B) Temifthe
(C) ShHhe
(D) weHifthe

C: 155 B 53] 1 °||d|°|{UII1=|ﬂ| AT SR
TS sheil drfest foh M= S S
ST ALggATeAi=ar Faaad 9

space and teaching-learning S-St Sfeserelt fTed et
goals.”
This statement is related to the @ e AT SR
............ theory of learning. ERENINI USRI
(A) Pavlov’s (A) Ul
(B) Kohler’s (B) aﬁw
(C) Gagne’s ©)
(D) Lewin’s
(D) <ifaA
15 [P.T.O.



36.

37.

38.

The following is not a type of

counselling :

(A) Curative

(B) Developmental
(C) Preventive
(D) Vocational

“Chinese and Indian parents pay
much more attention to the
academic achievement of their
children than American parents”.

This statement is related to

type of study.

(A) Comparative

(B) Causal

(C) Causal comparative
(D) Correlational

A study of the policies related to ICT
education in the last two decades

is a topic of

research.

(A) Policy

(B) Historical
(C) Descriptive

(D) Experimental

36.

37.

38.
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39. A statement of the most probable | 39. TF Tcuia TUferd Hae 72T Hieh
relation or difference between two offaom fagm e T
variables is : )

(A) HeMeA faum
(A) Research statement

B) HeMeA Rehed
(B) Research hypothesis (B)
(C) Research topic (C) WM foroa
(D) Research prediction (D) GefeA wifehd

40. The management of the variables so | 40, <eg WS Il
that their effect can be measured TG HI0 B SO HET I
and held constant statistically is ofor wSar A @ enfor e
called .....cccevvuvenene TeeTEag feR Saa WEa.

(A) Manipulation (A) YU BER
(B) Change (B) wed

(C) Control (C) frazm

(D) Selection (D) ferenr

41. In experimental research, when | 41 ypEifis TviieFE Stear U HRUTGS
many causes have one effect, it is Ted gRumE gid oT8d de’l el
called as ...coocevvevveeee. [ e TEUTdTd.

(A) Unicausality (A) Ifrerteiferet
(B) Equifinality (B) semferel
(C) Many causation (C) Bt e
(D) Large causation (D) st e
17 [P.T.O.



42.

43.

44.

To increase the reliability of
research, two main steps to be taken

(A) Adoption of most appropriate
sampling techniques and careful
recording of data

(B) Careful recording of data and

interpreting

(C) Careful recording of data and

analysing

Careful
interpreting data

D) sampling  and

If the value of kurtosis is greater
than 0.263, the distribution is said

(A) leptokurtic
(B) platikurtic
(C) normal

(D) mesokurtic

................ correlation is based on the
following assumption :

“Control the main variables (two or
three) and they will automatically
control so many other variables
since other variables are related to
these controlled variables.”

(A) Multiple
(B) Phi

(C) Tetrachoric
(D) Partial

42.

43.

44.
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45. The main ways of improving validity 45. TEREE U Srefvar TE nt s
of research is by adopting ........cccccc.. | oo 1 sTads FHI
(A) Mixed methods Rl
(B) Triangulation (A) a1 gl
(C) Mixed methods and (B) oM
triangulation (C) fag wgdl sufor Jrgerwm
(D) Multiple methods (D) wgfay ggdt
46. i, provides an 46. SF Tad Teiude YE g O
index of the strength of the linear .
relationship between two continuous fA2¥T (Index of strength) Wrefferdt
variables. | e 3 <vifgen <@
(A) Pearson’s product moment ..
, (A) TysRET=1 qiEd 9REuH geqey
correlation
(B) Phi correlation (B) w1 TegeY
(C) Bi-serial correlation ©) Teafrs wedey
(D) Spearman’s Rank-difference
correlation (D) THSTTHT 07— FeHa
47. Descriptive research that involves | 47. STEEIA Yoieh HeeThed Hifed! el
acquiring data from every member HI0 GHIasE 3T9d SR JuiTcHS
of population is called ................... TSN T IO LSRR
survey. FRUIATd.
(A) Census (A) SO
(B) Longitudinal (B) Hrdrquf
(C) Cross-sectional (C) fod+ eI
(D) Sampling (D) A T
19 [P.T.O.



48.

49.

50.

The teacher made test (non-

standardized) should be first

(A) Objective
(B) Adequate
(C) Reliable
(D) Valid

To study the health of rural women

in Maharashtra ................... will not

be the data collection tool.
(A) Questionnaire

(B) Interview

(C) Observation

(D) Diagnostic test

........................... type of attitude scales
are mostly used in Educational

Research.
(A) Semantic differential
(B) Binet
(C) Q-Sort

(D) Likert

48.

49.

50.

FEB — 70213/1II

forerer fafda =maon (tywiforg) gema:
(A) TS
(B) qaiw
(C) forew =
(D) TYHTT

RISl 0T Hfgarean ST
A HLOIHEE
ifedt Teholdra WEA STHUR ATe

(A) gIATEIA

(B) Helrerd
(C) Tigm

(D) SeI<er ==

sfvyg=it Al S gHOMA AT
S

(A) Toids fewm=itaa
B) o

(C) Hg-¥iE (Q-Sort)
(D) ferrd

20



FEBR — 70213/11
ROUGH WORK

21 [P.T.O.



FEB — 70213/1II

ROUGH WORK

22



Test Booklet No.
wrutE s | F

Paper-I1
EDUCATION

Signature and Name of Invigilator Seat No.
1. (Signature) ......ccccceeeeeecvieeeeeeecciieenn, (In figures as in Admit Card)
(NBI) oo SEALINO. evvvrriieiieieeeeeeeeeeee e,
2. (SIigNature) ......cccceeeevveeeeeeeeciieeeeeeens (In words)
(NAIME) ..o OMR Sheet No.

FEB -70213
Time Allowed : 1Y4 Hours]

(To be filled by the Candidate)
[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

® e

10.

12.

Instructions for the Candidates
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on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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